

ABSTRACT

Prison Department - Announcement made by the Hon'ble Minister (Municipal Administration, Rural Development, Law, Courts and Prisons) - On the floor of Legislative Assembly during Prison Demand on 30.04.2013 - Provision of additional CCTV cameras for all Central Prisons - Expenditure sanctioned - Orders - Issued.

Home (Prison-IV) Department

G.O.(Ms)No.798

Dated: 07.10.2013

விஜய, புரட்டாசி **21**, திருவள்ளுவர் ஆண்டு – **2044**

Read :-

From the Additional Director General of Police / Inspector General of Prisons letter No.15622/MW3/2013, dated 03.05.2013 and 01.07.2013.

-000-

ORDER:

The Hon'ble Minister (Municipal Administration, Rural Development, Law, Courts and Prisons) on 30.04.2013 has made the following announcement on the floor of Legislative Assembly, while replying to Demand No.24 Prisons:-

"மத்திய சிறைகளில் ரூ.221.30 இலட்சம் தொடரா செலவினத்தில் பாதுகாப்பினைப் பலப்படுத்தும் வகையில், 60 மேம்படுத்தப்பட்ட சிசிடிவி கேமராக்கள் சிறைகளில் முக்கியமான இடங்களில் பொருத்தப்படும்"

2. In pursuance to the above announcement, the Additional Director General of Police / Inspector General of Prisons has sent a detailed proposal wherein, he has stated that at present, 3 CCTV cameras, with recording facility, were provided to 7 Central Prisons and 2 Special Prisons for Women, Vellore and Trichy at a cost of Rs.54.17 lakhs during the year 2007-08. 10 Nos. of CCTV cameras were purchased and installed in the Central Prison-2, Puzhal, during the year 2009-10, at a total cost of Rs.17.11 lakhs. The present CCTV coverage is found to be highly inadequate to ensure complete coverage of all sensitive locations within the vast Campus in Prisons. He has further stated that provision of additional CCTV system with recording facility at vulnerable points in all Central Prisons, Special Prisons for Women and District Jail and Borstal School, Pudukottai is very essential to monitor the movement of prisoners and staff inside the prisons and, thereby, prevent any untoward incident inside the Prisons. In order to monitor the prisoners as well as the visitors, it is proposed to provide additional 60 Nos. of CCTV cameras to 9 Central Prisons, 3 Special Prisons for Women and District Jail & Borstal School, Pudukottai. These additional 60 cameras will be fixed at Main Gates, Admission Gates, Interview rooms (one at prisoner side and one at visitor side), High Security Blocks and in places like Hospitals, Towers

etc., where it is necessary to monitor the movements of the prisoners and staff.

3. The Additional Director General of Police / Inspector General of Prisons has also stated that the additional 60 CCTV cameras, with recording facility will be provided to all Central Prisons, Special Prisons for Women and District Jail & Borstal School, Pudukottai, as listed below: -

SI. No.	Name of the Prisons	No. of cameras required
1.	Central Prison, Vellore	6 Nos.
2.	Central Prison, Cuddalore	5 Nos.
3.	Central Prison, Trichy	6 Nos.
4.	Central Prison, Coimbatore	6 Nos.
5.	Central Prison, Madurai	6 Nos.
6.	Central Prison, Salem	5 Nos.
7.	Central Prison, Palayamkottai	6 Nos.
8.	Central Prison-1, Puzhal	5 Nos.
9.	Central Prison-2, Puzhal	3 Nos.
10.	Special Prison for Women, Vellore	2 Nos.
11.	Special Prison for Women, Trichy	2 Nos.
12.	Special Prison for Women, Puzhal	5 Nos.
13.	District Jail & Borstal School, Pudukottai	3 Nos.
	Total	60 Nos.

The approximate cost for the installation of additional 60 CCTV systems to the above mentioned prisons will be as detailed below:-

SI. No	Name of the Items	Unit per cost	No. of quantity	Total amount Rs.
1.	PTZ Camera	150000.00	13	19,50,000/-
2.	Fixed / IP Dome camera	50000.00	47	23,50,000/-
3.	Video Management Software	9000.00	60	5,40,000/-
4.	Workstation with 40" or higher LED Display	240000.00	13	31,20,000/-
5.	Supply and installation, commissioning of OFC cable, CAT 6, 6 Port liu, media converter, splacing, patch cord armored cable & 24 port switch and other accessories	1090000.00	13	1,41,70,000/-
	Total amount			Rs.2,21,30,000/- (or) Rs.221.30 lakhs

(Rupees two crores twenty one lakhs and thirty thousand only)

- 4. The Additional Director General of Police / Inspector General of Prisons has, therefore, requested the Government to issue necessary administrative sanction for the purchase and installation of 60 CCTV system to 9 Central Prisons 3 Special Prisons for Women and District Jail & Borstal School, Pudukottai, at a total cost of Rs.221.30 lakhs, for effective surveillance of prisoners as well as staff and visitors, so as to prevent any untoward incident in the prisons.
- 5. The Government have carefully examined the proposal of the Additional Director General of Police / Inspector General of Prisons, Chennai and have decided to accept it. Accordingly, the Government accord administrative sanction for a sum of Rs.221.30 lakhs (Rupees two crores twenty one lakhs and thirty thousand only) towards the purchase and installation of 60 CCTV system to 9 Central Prisons 3 Special Prisons for Women and District Jail & Borstal School, Pudukottai for effective surveillance of prisoners as well as staff and visitors, so as to prevent any untoward incident, as detailed in the Annexure appended to this order.
- 6. The expenditure sanctioned in paragraph 5 above shall be debited to the following head of account: -

"2056-00-Jails-101. Jails - I. Non - Plan - AA. Jails (Other than Sub-Jails) 19 Machinery and Equipments - 01 Purchase (DPC: 2056-00-101-AA -1916)".

- 7. The expenditure sanctioned in paragraph 5 above shall constitute an item of "New Service" and the approval of Legislature will be obtained in due course. Pending approval of the Legislature the expenditure will be initially met by an advance from the Contingency Fund. Orders for sanction of advance from the Contingency fund will be issued by the Finance (BG-I) Department. The Additional Director General of Police / Inspector General of Prisons is requested to apply for Contingency Fund Advance in the prescribed form along with the copy of this order to Finance (BG-I) Department, for sanctioning the advance. He is also requested to send necessary explanatory notes to include the above expenditure in the Supplementary Estimates for the year 2013-14 to Finance Department at the appropriate time without fail.
- 8. This order issues with the concurrence of the Finance Department vide its U.O.No.54081/Home-II/2013-1, dated 04.10.2013 and with Additional Sanction Ledger No.1475 (One thousand four hundred and seventy five).

(BY ORDER OF THE GOVERNOR)

NIRANJAN MARDI PRINCIPAL SECRETARY TO GOVERNMENT

To
The Additional Director General of Police /
Inspector General of Prisons, Chennai – 8.

The Superintendent of Prison,
All Central Prisons,
District Jail & Borstal School, Pudukottai.
Special Prison for Women, Vellore, Trichy, Puzhal.
The Accountant General (Audit), Chennai–18.
The Accountant General (A&E), Chennai–18.
The Pay and Accounts Officer (East), Chennai –8.
The Pay and Accounts Officer (South), Chennai –18.
Copy to:The Hen'ble Chief Minister's Office, Chennai 9.

The Hon'ble Chief Minister's Office, Chennai-9. The Finance (BG.I/BG.II/Home-II) Department, Chennai-9. Stock File / Spare Copy.

// FORWARDED BY ORDER //

SECTION OFFICER

Annexure -I

SI. No.	Name of the Prisons	No. of cameras to be installed
1.	Central Prison, Vellore	6 Nos.
2.	Central Prison, Cuddalore	5 Nos.
3.	Central Prison, Trichy	6 Nos.
4.	Central Prison, Coimbatore	6 Nos.
5.	Central Prison, Madurai	6 Nos.
6.	Central Prison, Salem	5 Nos.
7.	Central Prison, Palayamkottai	6 Nos.
8.	Central Prison-1, Puzhal	5 Nos.
9.	Central Prison-2, Puzhal	3 Nos.
10.	Special Prison for Women, Vellore	2 Nos.
11.	Special Prison for Women, Trichy	2 Nos.
12.	Special Prison for Women, Puzhal	5 Nos.
13.	District Jail & Borstal School, Pudukottai	3 Nos.
	Total	60 Nos.

NIRANJAN MARDI PRINCIPAL SECRETARY TO GOVERNMENT

// TRUE COPY //

SECTION OFFICER

Annexure -II CCTV SYSTEM

SI. No	Name of the Items	Unit per cost	No. of quantity	Total amount Rs.
1.	PTZ Camera	150000.00	13	19,50,000/-
2.	Fixed / IP Dome camera	50000.00	47	23,50,000/-
3.	Video Management Software	9000.00	60	5,40,000/-
4.	Workstation with 40" or higher LED Display	240000.00	13	31,20,000/-
5.	Supply and installation, commissioning of OFC cable, CAT 6, 6 Port liu, media converter, splacing, patch cord armored cable & 24 port switch and other accessories	1090000.00	13	1,41,70,000/-
	Total amount			Rs.2,21,30,000/- (or) Rs.221.30 lakhs

NIRANJAN MARDI PRINCIPAL SECRETARY TO GOVERNMENT

// TRUE COPY //

SECTION OFFICER